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QUESTION 1

Which of the following are characteristics of the one to many model of multicast data delivery? (Choose two) 

A. Receivers are generally unknown by the source 

B. Receivers are generally known by each other 

C. Well suited for applications in which the receivers provide feedback to each other and the source 

D. There is a single data flow for each group on the source segment 

E. All devices are potentially capable of generating multicast data 

F. Well suited for applications such as video on demand where each source sends a separate data stream to each of
the many different receivers 

Correct Answer: AD 

 

QUESTION 2

What is the destination address for MLDv2 general query? 

A. FF02::1 

B. FF02::2 

C. FF02::16 

D. The multicast group address which the router assumes its hosts might have interest in. 

Correct Answer: A 

 

QUESTION 3

Which of the following about BGP Auto Discovery in an MVPN is TRUE? 

A. If BGP Auto Discovery is used, MPLS LSPs must be used for the P-tunnels in the MVPN. 

B. PIM state is maintained between PEs in the MVPN without PIM Hello messages. 

C. MP-BGP keepalive messages are used to maintain adjacencies between the PEs in an MVPN. 

D. MP-BGP can also be used as the multicast signaling protocol between the PEs and CEs. 

Correct Answer: B 

 

QUESTION 4
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What is the position of the router shown in the exhibit? 

A. The RP 

B. The first hop router from the source 

C. The router where the Source and Shared Path Trees diverge 

D. An upstream router from the diverging router on the Shared Path Tree 

Correct Answer: C 

 

QUESTION 5

Which of the following pairs correctly completes the sentence below? When Draft Rosen is deployed, PEs exchange
CEs\\' unicast routing information via_________and exchange CEs\\'multicast group information via____________. 

A. MP-BGP, PIM 

B. MP-BGP, MP-BGP 

C. mLDP, PIM 

D. MP-BGP, mLDP 

Correct Answer: A 
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QUESTION 6

Why do RPs configured for anycast RP-set exchange Register messages? 

A. To inform each RP about all of the multicast sources in the domain 

B. There is no need for this. This is purely an optional functionality as described in the anycast RP draft 

C. To inform each RP about all of the multicast enabled receivers 

D. To facilitate the anycast RP election process 

E. None of the above 

Correct Answer: B 

 

QUESTION 7

What impact will an asymmetric IGP routing topology have on the PIM RPF check? 

A. The PIM RPF check may fail since traffic from the source may arrive on one interface while the IP route to the source
may point to another interface on the PIM router 

B. PIM does not work in an asymmetric topology and therefore the RPF check will not be done 

C. There will be no impact since the shared and source path trees are built from the receiver to the source 

D. There is not enough information provided to answer the question 

Correct Answer: C 

 

QUESTION 8

After the switchover from Shared Path Tree to Source Path Tree, does a branch of the Shared Path Tree still exist
between the diverging router (router where the Shared and Source Path Tree diverge) and the RP? 

A. Yes, it exists until the source stops sending multicast traffic. 

B. Yes, it exists until there is no receiver beyond the diverging router. 

C. No. After switchover, only the Source Path Tree remains. 

D. No. After switchover, only the Shared Path Tree remains between the source and RP. 

Correct Answer: B 

 

QUESTION 9

Which statement best describes the impact of an RP failure in a PIM ASM network? 
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A. All the existing multicast traffic will be stopped immediately as PIM ASM network must have an RP in order to
transmit all the multicast traffic 

B. The multicast traffic will be impacted, but not immediately. Multicast routers will not discover the RP failure until the
timer expires and the multicast traffic flow will be stopped. 

C. No impact at all as RP is not required in a PIM ASM network 

D. The traffic will not be impacted if the multicast traffic flows have already been established and the traffic flow does not
involve the RP in the path 

Correct Answer: D 

 

QUESTION 10

Refer to the following exhibit. 

Assume all links have an equal metric in the IGP. Receiver 2 and Receiver 3 have joined the multicast group and the
source is not sending. Where will the Shared Path Tree have been created? (Choose two) 

A. Router G-E-C 

B. Router F-D-E-G 

C. Router F-D-E-C 

D. Router C-A 

E. Router F-D-B-A 
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F. Router G-E-C- A 

G. No Shared Path Tree will have been created 

Correct Answer: AC 

 

QUESTION 11

Which of the following about Draft Rosen MVPN is TRUE? 

A. In Draft Rosen MVPN, each CE maintains a PIM adjacency to its remote CE routers. 

B. In Draft Rosen MVPN, customer multicast group addresses in different VRFs cannot overlap. 

C. Draft Rosen MVPN encapsulates customer multicast traffic in GRE tunnels. 

D. In Draft Rosen MVPN, PE routers exchange customer multicast routing information by MP-BGP. 

Correct Answer: C 

 

QUESTION 12

Which MAC address does the IPv4 multicast address 239.33.42.107 translate to? 

A. 01-00-5e-al-2a-6b 

B. 01-00-5e-21-2a-6b 

C. 01-00-5e-21-2c-6c 

D. 00-01-5e-al-2a-6b 

E. 00-01-5e-21-2a-6b 

F. 00-01-5e-al-2a-6b 

Correct Answer: B 

 

QUESTION 13

What is the position of the router shown in the exhibit? 
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A. The first hop router from the source 

B. The RP 

C. One router upstream on the Shared Path Tree from the diverging router 

D. The last hop router from the source 

Correct Answer: A 

 

QUESTION 14

Refer to the following exhibit. 
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Assuming all links have an equal metric in the IGP, where will the Source Path Tree have been created if Receiver 2
and Receiver 3 have joined the multicast group but the source is not sending? 

A. Router G-E-C-A 

B. Router F-D-B-A 

C. Router C-A 

D. There won\\'t be a Source Path Tree 

Correct Answer: D 

 

QUESTION 15

Which two protocols are used to signal P2MP LSPs? 

A. BGPA-DandRSVP-TE 

B. RSVP-TE and mLDP 

C. mLDPamd PIM 

D. mLDP and BGP A-D 

Correct Answer: B 
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